(x =2y - 32)%2 Z75te] xofl St WA= 2 H2|5tH?

D x? +4y? + 972 — 4xy + 12yz — 62x
@ x% —dxy+4y* — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y? + 12yz + 922 + (—4y — 62)x + x?

® 972 + 4y? + x?



x 9 ol TAIGlol 54 x% + 13x - 18 = a(x + 2)(x — 3) + bx(x +
2) +ex(x=3) ol P AL W, A a.b,c T Fa+b+c o =
o1 ?

@1 @ 3 ® 6 @ 9 ® 12



3. 2012 =kt S, 2013 x 2011 & k2 ERHHA?

O kK+k @ k-1 ® kK+k+1

@ K2-k+1 ® K-k



BRESHE A4 x, yoll hoko] x -y o] ghe Fotu?

(1+2)x+ (1 +i)y=1+3i

D1

@ 3 ® 5 @7




5.

V=3 V=55 Alitsa?

O V15 @ -+15
@ —+15i ® -15

® V15i



lx—1] = 52] BE sj2] 3F22



ol
n_rt

~K
o
A,

~

@ y=-x>+2x+1

@y

O y=-3x2

(x+1)2+3

® y=-2(x-1)?

® y=3-x2






@ a+2[<]b+2 O -a-4[>] -b-4
1 1 a b

@§a+3 5[9—!—3 @—5 ~3

ON@) ® 9,0 ® 0,6

@ 0,00 ® 90,6



=

\
N | w



11.

FeM ax+12>2x+59 817k x> 2 W, A= a 9] gH?



o

12. o=

AHRSA R Yepd A

rlo

AL

ofH & x oA 45 W 10 Ho} 231, x €] 3 Hje]l 3 & HstH
22 Ho} 247] ¢t

x—4<10
@)

3x+3>22

x—-4<10
®

3x+3>22

x+4<10
®

3x—3>22

x—4<10
3x+3<22
x—4>10
3x+3<22




13. A<B<CEIRAE E T U= 2427

i
A<B A<B A<C
@) ®
A<C B<C B<C

@)
@ B<A ®
B<C

A<B
C<B



14.

32 +4x-4>0

AHESA
(x+1)?2<4

2

DO -2<x<-1, §<x<1
1

® -2<x<0, §<x<1

1
® -4<x<-2, §<x<1

= EH?
@ -1<x<-3,
@ -3<x<-2,

Wl M| N
IA
=

IA
=
A

A

[\]

—_



15.

+< AABC oM ¥ BCO SH= M A
oz}t 8, AB”+AC” = 2(AM +BM")
< Z9ste BAoltt,

A(a,b)

A BCE x5, 54 M< A4l ¥ BC
o= Y, A 34 A, B,
A(a,b), B(~c,0), C(c,0) 2t 5tH

AB°+AC = (a+0)2+ b2+ (a—c)? + b2 =(7h o2,
WQ =a? + b2,w2 =2

wrebA AN + BM -

- AB’ + AC” =(th)(AM" + BM")

@
10
»
=
i
N2
N

o] (7h), (W), (Fh ol et AS Az 2 om?

O a?+b2+2a®>+b>+c21
@ 2(a® 4+ b* + ¢?),2(a® + b* + 2),1
® 2(a® +b*+ c?),a% + b* + 2,2

@ 2(a®+b* +?),2(a® + b* + 2),2
@ ( 2 2)

3(a® + b+ ¢?),a® + b + 2,3



